Packet Tracer Variable Manager

VLSM Exercise

Scenario

You have been given the address space 192.168.1.0/24 to address your network. In order to address the network and conserve address space, you will use variable length subnet masking (VLSM). You have decided to use subnet 0 for your largest address block to conserve address space. 

The Central router has 2 LANs - Network_A -  which requires 60 host addresses, and Network_B - which requires 25 host addresses. 

The Branch router has 1 LAN - Network_C - which requires 10 host addresses. 

The serial link between the Central router and the Branch router will also require 2 IP addresses.

Objective

Calculate the subnet scheme that you will use and configure all the devices with the appropriate addresses. Note that any IP address within the appropriate subnet is acceptable for assigning to an interface. After the address configuration is complete, test the connectivity of the network from PC to PC. Troubleshoot if necessary.






